
01284 757500
01284 703534 sales@sealey.co.uk

Sole UK Distributor
Sealey Group,

Bury St. Edmunds, Suffolk.

www.sealey.co.uk
Web

email

PARTS LIST FOR:
BENCH GRINDER
Model: BG200XL

Item  Part No. Description Quantity
1.     BG200XL/A-01 Eye Shield 2
2.     BG200XL/A-02 Grinding Wheel 1
3.     BG200XL/A-03 End, Bell 2
4.     BG200XL/A-04 Motor Case 1
5.     BG200XL/A-05 Label 1
6.     BG200XL/A-06 Rotor 1
7.     BG200XL/A-07 Stator 1
8.     BG200XL/A-08 Toothed Washer 27
9.     BG200XL/A-09 Screw, M5 X 35mm 8
10.   BG200XL/A-10 Bearing (6203ZZ) 2
11.   BG200XL/A-11 Screw, M5 x 12mm 9
12.   BG200XL/A-12 Washer 4
13.   BG200XL/A-13 Grinding Wheel 1
14.   BG200XL/A-14 Outer Flange 2
15.   BG200XL/A-15 Nut, M14 (left) 1
16.   BG200XL/A-16 Left Adjustable Rest 1
17.   BG200XL/A-17 Left Wheel Guard 1
18.   BG200XL/A-18 No. 2 Shaft Bushing 2
19.   BG200XL/A-19 Screw, M5 x 10mm (Not Shown) 2
20.   BG200XL/A-20 Rubber Pad 4
21.   BG200XL/A-21 Screw, M5 x 8mm 2
22.   BG200XL/A-22 Bolt, M8 x 25mm 2
23.   BG200XL/A-23 Washer 2
24.   BG200XL/A-24 Switch Label 1
25.   BG200XL/A-25 Switch 1
26.   BG200XL/A-26 Screw, M3 x 10mm 2
27.   BG200XL/A-27 Toothed Washer 2
28.   BG200XL/A-28 Fastening Knob 2

Item  Part No. Description Quantity
29.   BG200XL/A-29 Bolt, M6 x 16mm 2
30.   BG200XL/A-30 Toothed Washer 2
31.   BG200XL/A-31 Washer 2
32.   BG200XL/A-32 Right Wheel Guard 1
33.   BG200XL/A-33 Right Adjustable Rest 1
34.   BG200XL/A-34 Right Cover 1
35.   BG200XL/A-35 Nut, M5 6
36.   BG200XL/A-36 Screw, M5 x 60mm 6
37.   BG200XL/A-37 Nut,  M14 1
38.   BG200XL/A-38 Left Cover 1
39.   BG200XL/A-39 Motor Base 1
40.   BG200XL/A-40 Capacitor Holder 1
41.   BG200XL/A-41 Strain Relief 1
43.   BG200XL/A-43 Wire Lead 6
44.   BG200XL/A-44 Capacitor 1
45.   BG200XL/A-45 Grounding Label 1
46.   BG200XL/A-46 Direction Label 2
48.   BG200XL/A-48 Screw, M4 x 8mm 1
49.   BG200XL/A-49 Washer 1
50.   BG200XL/A-50 Bush 1
51.   BG200XL/A-51 Inner Flange 2
52.   BG200XL/A-52  Nut, M8 2
53.   BG200XL/A-53 Warning Label (Not Shown) 1
54.   BG200XL/A-54 Label 1
55.   BG200XL/A-55 Clamping Plate (Not Shown) 1

Issue: 4
Date Issued: 09/04/2008


